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The water cycle describes the
continuous movement of the
water of Earth. Which part of
the water cycle is directly
responsible for returning
water to the soil?

a. condensation
b. evaporation
C. precipitation

d. transpiration

What happens when the Sun’s
energy warms ocean water?

a. The water collects.
b. The water evaporates.
c. The water condenses.

d. The water precipitates.

Heat from the sun’s energy
most directly affects which
part of the water cycle?

a. condensation

b. evaporation

C. precipitation

d. transpiration

The water cycle includes which
processes?

a. evaporation, condensation,
precipitation

b. metamorphosis,
evaporation, respiration

C. precipitation, perspiration,
mitosis

d. fixation, decomposition,
respiration

Which best explains why a ball
increases in speed as it rolls
down a hill?

a. The ball increases in speed
because of friction.

b. The ball increases in speed
because of gravity.

c. The ball increases in speed
because of magnetism.

d. The ball increases in speed
because the mass changes.

A runner traveled 6 miles in one
hour. During the next hour, the

runner traveled 8 miles. Which best

describes the motion of the runner
during the second hour?

a. speeding up
b. slowing down
c. changing direction

d. constant speed

Two teams are playing tug-of-war
with a long rope. Both teams have
six members each that are all the
same size and strength. During
the game, two members of one
team let go of the rope at the
same time and quit playing. Which
will most likely occur next?

a. The rope will split into two
pieces.

b. The teams will move toward
each other.

c. The rope will move in the
direction of the team with less
members.

d. The rope will move in the
direction of the team with more
members.

A 2-pound ball and 4-pound ball
were used for an experiment. A
student kicked the two balls with
the same amount of force and
thinks the heavier ball will travel
farther. Is the student correct?

a. No, the student is incorrect
because the lighter ball has less
mass, so it is affected more by
gravity.

b. Yes, the student is correct
because the heavier ball has more
mass, so it is affected less by
friction.

c. No, the student is incorrect
because the lighter ball has less
mass, so it will travel farther.

d. Yes, the student is correct
because the heavier ball has more
mass, so it will travel farther.
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